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A AWl el

28k QW M8 Y — = ¢ Y= oal il
Ifa=3 and u=-1then the o ol &y 3

covered distance during the time | &
interval [ 0, 2 ] = ... length unit
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If a particle moves in a straight
line with a uniform velocity
under the action of the two
forces fy=2a7—3]+4k ,
fb=61+bj—¢ck
thena + b + e = .......
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axS 3+ w2 = Al aan o pan 1)

a body of mass m = (2t + 2) kg

moves in a straight li'ne 1f its o8 A a3 4nte S5 caufine bd 3
displacement vector is written as
a function in time by the relation ( oY + Y0 i) - AR B
§:(§t2+2t)ﬁwheresis 2 -
measured in meter ,t is measured | Jlafe QLB ANEL ¢ JaLAulie Cic g

in second ,then the magnitude of — il e syipdl s,
the force act on it 1s .....newton

A

2t+ 3

12t + 3

12t + 13
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If body moves on an included
plane under the effect of its
weight only, then its
acceleration depends on

e dgna alae L6 da G asg,

its mass

its weight

the inclination angle of the ¢ stunall Jaa 435l 5
plane

the reaction of the plane
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If the two forces s
fi= i+5j+7k, & ek
=21~ 72k LY+~ A=V
measured in Newton act on ZY _;,_ —;Y _ :U
a body for a period of time
equals 2 sec, then the Lpia ) 550 puen o i gall Bam g 0l )0
magnitude of the impulse of 3am gy (5 ol pda Hlale U8 3502 La
the forces in Newton. Sec
equals ...........
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If a body moved in a straight Al e e Bd B auy @ 2 1Y
line from.the point A(—3,2) (F=co) it g(vera))
to the point B(5, —3) under

LA NOA+ ne = 0 5o gl il cuas
the effect of the force QL2 NPA + Ao = 0 B8l i i

fi= 51+87, then the work Gl i R gl e

done by this force equals
Work unit.
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If a body of mass 30 gm is let to habead o o Wo ASS o o 513
fall from a height 10 m above the ch e kel Ve gL (e
ground, then its kinetic energy o d) 138 A A3l olb (i W)
when it is about to collide with the

ground equals joule. Lo L alla ) eld g 5% Lasic

0.294 L

29.4 va.2

2.94
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A man of mass 50 kg ascends a alu ang 04 A3C (i a1

stairs of a tower of height 441 m, Ot b fia £8) 4lif gz
in 15 min, then the average power ida giall 508N 40 488s Vo o i
for him in watt equals

240.1
490
144.6
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Al oA o an Saa gl 4IhC s

—

A body whose mass equals the
unity moves under the effect of a | we ju 4ais (S 18 5 6 = T 5

—

slawe+ oh=¢&

force f=5n.ifits velocity vector
v=(at’!+bt)n ,then
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A lift of mass 4 ton moves ,
with uniform velocity. if the |A—iis 45 dahy Gh ¢ 4 maas
tension in the string carrying | ¢i—d J—alt —8 o & Hls< 18

it equals 6 tom.wt , then the | | 4510 seadl ol oh . & % Alaay
mass of the body inside the

lift =
14
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In the opposite figure: ;i) Jean B

. | The presser on

the axis of the
pulley equals 110" odr ]
T 2 /
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Two bodies are connected by the
ends of a light string passing over a
smooth fixed pulley .If the vertical
distance between them after 2 sec _
from the beginning of the motion | &« &80 ¥ sy aud 654 L)
equals 144 cm ,then the velocity of | Lagis §S de ju o8 45 ol oy
each of the two bodies at this
instance equals

U.-.‘-‘—“‘U:‘iza‘—“iﬂ A8l | -
oy il Bk Tt b g o
Obdayg A plule 85 A

18 Y A

36 ¥
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.| Arubber ball of massi kg fell

1
— LS Sl 5 8 i

down from a height of 10 meters
above the ground and rebounded gl (8 Fe v gl e pas
after collided with the ground for Lealabaal dny i Sl i Y1
: height of 2.5 meters. Find th‘e. ¢ g Ns pliale wmall
impulse resulted from the collision 0 b e ol 3a 4
(impact) of the ball with the _ & (

ground and identify the reaction oYt ded 2 gy pRT o
of the ground on the ball if the 5 KW Luadls e G813 3 SN e
contact time of the ball with the

. i
ground is — of second.
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o ; - . ax & ¢ pa 350 Laalilis leva
Two bodies of masses 350 gm, an 5 !

m gm are connected by the ends of e e e
a string passing over a smooth small Gy ol g olude 3 a5 58
pulley and suspended vertically. The S (e 48 ATl s peadh el
system moves from rest when the two
masses are in a horizontal plane and
the pressure on the axis of the pulley Jg—aa Ao daraall Hl< caaly
is 200 gm.wt. Find the value of m

ﬁg\ o ghua & UESH il Ladie
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A body of mass 63 gm is placed on a | uai o an 1V &K aus aunay
rough horizontal table and connected

by a horizontal string passing over a
smooth small pulley fixed at the edge

of the table. Another body of mass 35 | Lall AV s yhall 3 L'y sl
g at a height of 280 cm above the
ground is connected by the other end )
of the string. If the coefficient of the | Jelre OIS 138 (yin ¥V mhais (e o
kinetic friction between the body and aaall o Sl laay

. 1 :
the plane is equal to = find the Ze saal 4?.33’7 o Suig ol

velocity by which the mass 35 gm )
selig . Jwa Ko SR B, S
reaches the ground surface and the | ~ e led s (g

L—T"‘: .)"‘:19—“‘-]9:‘,;'-}9-’1)5 FETES fﬂ
Als aie Afe clule b a3 Sy

YA &L\SJ\ \;JQ?;Y‘O 4:1135‘:-\&.;

distance that the mass63 gm moves | HSH LS i  l Adladl 5 = )Y
until it rests a5 (A lld sey pa Y
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Two smooth balls; the mass of the first
is 50 gm, the mass of the second is 40
gm, the displacement of the first is

S, =300t 7 and the displacement of

the second is S, = - 150t 7 where S is
measured in cm and timed in second.

If the two balls collide and form one
body directly after collision, calculate
the common velocity of this body, then
calculate the force of pressure between

the two balls if the collision time is % of

a second.

50 J A liglide ol <
3;‘)3'5 ?[).; 40 ;it_u‘::]\ Z..".'\S_} (JJ;_»..

—

iy s T = 14 JN
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| The following figure illustrates the
action of a variable force on a body, slo B e i b LG sy G Al
calculate the total work done by this dbud gy Jodsall JSH Jadll Cuial aun
force in the following cases: A8 VLl 5 gl ok
First: from S=0to $ =10 (=G .=4OA:M
Second: fromS=8toS=14 i '
F newton Yi=a g“ A= e WG

o «!
A J';:-Lt 2

4

A
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If the power of an engine at any Lalie &y o) (sf aie &1 5508 cuils 1))

time measured in seconds is equal

ald (W f+ 0 ) sl Al

to (9t + 4t), find the work

i3l Ja AW e Jaduall Jai
done by the engine during the first Al d W Oa dssall Sl

three minutes, then find the work Jsdsall il aa 5l &5 A GY1 EDGEY

done during the fourth second. Anyl il Al s
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A cyclist and the bike of mass 98 kg
move on a rough horizontal ground

qA 2;1)..‘\.“5 yz 4:\1'35 :\;1_).3 ‘7‘9_)

from rest to reach the maximum e ) A )| gl R B e
velocity of magnitude 7.5 m/sec Lef all e ju ild oSl e
after time of magnitude 1 minute ) am . &f ge VO e i L

when the cyclist stop peddling. The 28 . i) L g gasll g RN 5 58
bike gets rested after it traveled a

dal ol e dal all Jlay o 400
o fia V0 L a Lalie Cuedad o e

distance of magnitude 15 m.

Calculate the maximum power for
the cyclist during this trip.
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A body of mass 60 kg ascends from
| & 1o qald
rest on the line of the greatest slope gl g s S s by

to an inclined plane of length 20 m | 4lsh Jile 5 st Jse ;€ b o

and height 12 m. If the body starts | {y, 135 « g0 VY acliijly e Yo

its motion from the highest point " P
on the plane and the kinetic '3 ol 0 Bpall mald

coefficient of friction between the Soalh AT Jalaa S5 (5 gl

3
e fi ; o3
body and the plane is o , find the AP —u i a8

kinetic energy of the body when it (& sl 32618 Y Jomy Lonie ausl
reaches the plane base.
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